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The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . i
million %) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafad aifere & v $ufar A-e F ad 2021 & o4 i =g (FAfem= = 9) @ welfa frar T 81 St &1 ufeze
T e PR AN TR

(ATH/ET) % = [(3T - =qq) / 9G] X 100
ARt & f3E T sifpe F YR W 7% &7 I e :

ay 2021 &1 HUHI-aR 3™ 3R &g

-l (faferH z #) oy (afema T +)
A 35 45
B 50 40
C 40 45
D |40 30
E 50 45
Company earned the maximum percentage profit in the year 2021.
T.A
2.B
3.C
4.D
1) 1
(2) 2

3) 3




(4) 4

gy 2021 ¥ feg Su-it 7 if¥dan ary sifofa faan 2

1. A
2.B
3.C
4.D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29101] Question Description : dwbv_pg_gp24_eng_2_q1l
2[Option ID=29102]

3[Option ID=29103]
4[Option ID=29104]

Sl. No.2
QBID:24201002

The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . i
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafad aifere & v $ufar A-E ¥ ad 2021 & 3 3T =09 (FAfe= 2 #) @ ueikfa frar M 81 St &1 ufaee
aHT e PRI d .

(ATH/ET) % = [(3TT - ) 7 Sq] X 100
HROT & 3 78 sifFs F SMUYR W 7Y $T I g :

a4 2021 &1 HUHI-SR 3™ 3R &g

G- (faferH 2 o) oy (afema T 4)
A 35 45
B |50 40
C 40 45
D 40 30
E |50 45




The companies A and B together had a percentage profit/loss of .

1.12% loss

2. 10% profit

3.10% loss

4. There was no loss or profit

(1) 1
(2) 2
3) 3
(4) 4

A 3R g U &1 U 9 fHae ufae ar/eH fea/fea & 2
1.12% Bl

2.10% a1
3.10% gIf+
4. P13 gl a1 Ay el of

1)
(2)
(3)
(4)

A W N R

1[Option ID=29105] Question Description : dwbv_pg_gp24_eng_2_q2
2[Option ID=29106]
3[Option ID=29107]
4[Option ID=29108]

Sl. No.3
QBID:24201003




The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafaa aifere & o $ufar A-e F T 2021 F o 3T =g (Afem= 2 9) o weifa frar M 81 S0t &1 ufeee
s T e P TSR AN TR

(ATH/ETT) % = [(3TT - =q9) / =I9] X 100
HRt & f3T T sifpe F YR W U4 &7 IR Jifve :

Y 2021 &1 HUHI-TR ™ 3R g

-l (e 2 #) oy (@iema 4
A 35 45
B |50 40
C 40 45
D 40 30
E |50 45

In 2021, the approximate percentage of profit/loss of all the five companies taken together was

1. 5% profit
2. 4% loss
3.7 % loss
4. 10 % profit
(1) 1
2) 2
3) 3
4) 4

gy 2021 5 9t uTel Hual @ ue a1y e and g1 &1 ufa=rd o feam o 2

1.5% TY
2. 4% BIH
3.7% 81

4. 10% <M




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29109] Question Description : dwbv_pg_gp24_eng_2_q3
2[Option ID=29110]

3[Option ID=29111]
4[Option ID=29112]

Sl. No.4
QBID:24201004

The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Frafafaa aifere & o $ufar A-E ¥ ad 2021 & 39 3 =g (o= 2 #) oY uefifa frar T 21 o=t =1 ufewe
aY T R TR I TS

(ATH/ET) % = [(3TT - =) 7 TT] X 100
Aot & foE 1 sifpe F YR W U4 &7 I« g :

a4 2021 &1 HUHI-SR 3™ 3R &g

G- (faferH 2 o) oy (afema T 4)
A 35 45
B |50 40
C 40 45
D |40 30
E |50 45

If the income of Company D in 2021 was 10% more than its income in 2020 and the company had earned a profit of 20% in
2020, then its expenditure (in million ) in 2020 was approximately

1.28.28
2.30.30
3.32.32
4.34.34

1) 1




) 2
3) 3
(4) 4

o af 2021 # SO D DI 3T I 2020 BT AT Y 109 1D ff 3R H = 2020 F 20% Y 31fold fasar o1, @t 3 2020
T suo oy (Fafeme < 1) T feaan o

1.28.28
2.30.30
3.32.32
4.34.34

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29113] Question Description : dwbv_pg_gp24_eng_2_q4
2[Option ID=29114]
3[Option ID=29115]
4[Option ID=29116]

Sl. No.5
QBID:24201005




The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafaa aifere & o $ufar A-e F T 2021 F o 3T =g (Afem= 2 9) o weifa frar M 81 S0t &1 ufeee
s T e P TSR AN TR

(ATH/ETT) % = [(3TT - =q9) / =I9] X 100
HRt & f3T T sifpe F YR W U4 &7 IR Jifve :

Y 2021 &1 HUHI-TR ™ 3R g

-l (e 2 #) oy (@iema 4
A 35 45
B |50 40
C 40 45
D 40 30
E |50 45

For Company E, if the expenditure had increased by 20% in the year 2021 from the year 2020 and the company had earned
a profit of 10% in 2020, then the company’s income (in million ) in 2020 was

1.37.25
2.38.50
3.41.25
4.42.75

1) 1
(2) 2
3) 3
(4) 4




g Sl £ & fog, 9y 2021 &1 o0g a¥ 2020 S T H 20% Sl 1eT1 T-T 4T SR ST 3 ad 2020 H 10% a4 Hoid fdar o,
dt dat &1 a¥ 2020 B 39 (e < H) feat 9 2

1.37.25
2.38.50
3. 41.25
4.42.75

1)
(2)
(3)
(4)

A W N =

1[Option ID=29117] Question Description : dwbv_pg_gp24_eng_2_q5
2[Option ID=29118]
3[Option ID=29119]
4[Option ID=29120]

Sl. No.6
QBID:24201006

Given below are two statements:

Statement I: In formative evaluation, the overall performance of the students are reported to parents at the end of the year.
Statement II: In summative evaluation, the teacher clarifies the doubts of students in the class itself.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

dH APy RuUE:

&Y - | FafmeEs (widfea) geie §, faendf & v fuaea & e 3 af & sid J amar-fuar o ol § e 2
@Y - || : YhoHTES (GHied) GedisH |, FRiad wan d g 8l & Yo $I HaRv &dl 8l

e YAl & Tettep 7 FafiRad el § 4 w8 S -

1. Y | 3R 11 GHI GgT &

2. @Y | AR 11 G TTad & |

3. @Y 1 9 7, fog @uH 11 7Tad &
4. BY | HEA 8, Tiod BUA 11 T2 B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29121] Question Description : dwbv_pg_gp24_eng_2_q6
2[Option ID=29122]
3[Option ID=29123]
4[Option ID=29124]

Sl. No.7
QBID:24201007




Given below are two statements:

Statement I: SWAYAM is a program initiated by Government of India and designed to achieve the six cardinal principles of
education policy.

Statement II: SWAYAM has been developed cooperatively by Ministry of Human Resource Development (now Ministry of
Education) and All India Council for Technical Education with the help of Infosys.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

DY - | : TH, HRd WBR gRI Ydldd U SHH & 3R g Alaid 1id & &g AR sidl dI UId &3 & oY
HHDIUd B |

T - || : TOH Bl SHIY DI Gerdl U AFd GareH Ao S (36 fR1aT H3ed) R $if@d YR de-io! &l 9kug
SR GgaNTgd® fasid e T gl

St wuA & s § Fafied e § @ 9d SR

1. ®YT | 3R 11 T 98T 81
2. Y| R 11 GF Tad B
3. I Rl e, g @ T B |
4. YA | TTAd & , T By 11 98l Bl

1)
(2)
(3)
(4)

A W N =

1[Option ID=29125] Question Description : dwbv_pg_gp24_eng_2_q7
2[Option ID=29126]
3[Option ID=29127]
4[Option ID=29128]

Sl. No.8

QBID:24201008

Which of the following is said to occur without reinforcement of particular responses and seems to involve changes in the
ways information is processed?

1. Passive learning
2. Latent learning
3. Active learning
4. Insight learning

1)
(2)
(3)
(4)

A W N R




fFrafaRaa # @ @1 a1 fafiy srfsar & Yeeldvl & &A1 9fed giFT S/l Sl & SR 39 THId &1 o aTell a1 & aid
¥ uRad- 2nfia udid gial g ?

1. fsRg it
2. 3fogdd HRH
3. Tihg 3T
4. genely affirms

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29129] Question Description : dwbv_pg_gp24_eng_2_q8
2[Option ID=29130]

3[Option ID=29131]
4[Option ID=29132]

Sl. No.9
QBID:24201009

According to Brown and Ciufflectelli Parker, Which of the following are the elements of cooperative learning?
A. Individual Accountability

B. Demonstration

C. Brainstorming

D. Group processing

E. Social skills

Choose the correct answer from the options given below:

1.B, C and E only
2.B and D only
3.A Dand E only
4. Cand D only

1) 1
) 2
3) 3
(4) 4




F13 AR Wi eell Ul & SHR YeaRTES SHEH & dd Hgfaiad 5 dH 4 82
A. SfGHTd JTReIAG

B. Feuor

C. [qar-#y=

D. GHg-UHIeH (U U

E. TSI BT

=i f&u 7 fadeal § 9 98 I g -

1. 5dd B, C AR E
2.%ad B 3R D
3.%ddA DIARE
4.PHACHRD

1)
(2)
(3)
(4)

A W N R

1[Option ID=29133] Question Description : dwbv_pg_gp24_eng_2_q9
2[Option ID=29134]
3[Option ID=29135]
4[Option ID=29136]

Sl. No.10
QBID:24201010

Given below are two statements:

Statement I: Good teaching is formal in nature.

Statement II: There is no difference between teaching and training.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

EIEAEAC AR S

HY - | : 3T e yefaa: sfiuaie g gl

T - 11 : 7o IR WiIE & e i He A2 oiel o
St wuA & s § Fafied e § @ 9d SR

1. ®YT | 3R 11 T 98T 81

2. Y| R 11 GF Tad B

3. @Y1 9d &, fod &Y 11 TAd B
4. Y| 9T g, g v 1 W B

A W N R

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=29137] Question Description : dwbv_pg_gp24_eng_2_q10
2[Option ID=29138]

3[Option ID=29139]
4[Option ID=29140]

Sl. No.11
QBID:24201011

A conceptual hypothesis is drawn from the implications of a

1. Prediction

2. Theory

3. Spurious relation
4. Time-order

(1)
(2)
(3)
(4)

TP udd UG Hgfarad | ° feg fAfgan! 9 o o 82

1. Q&A=

2. fgia

3. UMD T
4. DIA-HH

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29141] Question Description : dwbv_pg_gp24_eng_2_q11
2[Option ID=29142]
3[Option ID=29143]
4[Option ID=29144]

Sl. No.12
QBID:24201012

In inductive approach theory is generated out of

1. Simple observation
2. Research done

3. Field notes

4. Another theory

(1)
(2)
(3)
(4)

HRTHATED IUFH H Rigid FafcRad H U foud g g sidi ¢ ?

1. FIYROT Y&

2. feqifea ar g
3. &7 - feam

4. 3 fogid

A W N R

1 1
2) 2




3) 3
(4) 4

1[Option ID=29145] Question Description : dwbv_pg_gp24_eng_2_q12
2[Option ID=29146]
3[Option ID=29147]
4[Option ID=29148]

Sl. No.13
QBID:24201013

When a sampled individual is cbserved over a pre-determined period of time in structured observation , it is called

1. Focus sampling

2. Observed sampling
3. Random sampling
4. Purposive sampling

(1) 1
(2) 2
3) 3
(4) 4

e fep il ufcafRia safda o1 Heror YRfd Ueror &1 ud Meifd geamafy o i o 2, 9l 58 Sel Sl &

1. Gopl-5d Ulcaa
2. Uférd ufaag
3. U Uidag
4. giezg ufaaa

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29149] Question Description : dwbv_pg_gp24_eng_2_q13
2[Option ID=29150]

3[Option ID=29151]
4[Option ID=29152]

Sl. No.14
QBID:24201014

In ethnographic research, the researcher involves himself in a over a period of time.

1. philosophical discourse
2. political campaign

3. financial transaction

4. social setting

1) 1
(2) 2
(3) 3
(4) 4

HHASIEE U ¥, S8 0= 310 &1 Fufafed & 3 oo te el & fn i s g

1. GRIM® Gag

2. ToHfad famsl
3. fa<ila YomaeRr
4. o aRawr

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=29153] Question Description : dwbv_pg_gp24_eng_2_q14
2[Option ID=29154]
3[Option ID=29155]
4[Option ID=29156]

Sl. No.15
QBID:24201015

Given below are two statements:

Statement I: The double blind procedure is an effective solution to the issue of experimenter bias in research.
Statement II: The problem of experimenter bias can also be solved by non-verbal cuing of the participants.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1)1
(2) 2
(3) 3
(4) 4

EIEFCAE A

T - | ATHUH H fgdeq Ul srdUFGdl ® Garig! SHRdl &1 T SHeHE gl

T - 11 : HFGUHG! & Garig di gue o TeuifEl & IR-2nfsad Ydba- gRT Yor o Tl g
SWad Bl & Hcile H Fyftiad fdbedl 7 4 98l S g -

1. B | 3R 11 SHT 9ET B
2. %Y | AR 11 G T &
3. Y| TRl 7, faeg &Y 11 T B
4. YA | TTAd & , fbg By 11 98T Bl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29157] Question Description : dwbv_pg_gp24_eng_2_q15
2[Option ID=29158]

3[Option ID=29159]
4[Option ID=29160]

Sl. No.16
QBID:24201016

The arrival of interactive communication technologies has been described as

1. The first media age

2. The second media age
3. Post-media age

4. Post-technology age

1) 1
() 2
(3) 3
(4) 4




I aTe® TuwYl Hiefififeeat & e &t fufeiRad ©u 3 aftla fear mar &

1. 9y Hitgar g
2. fedia difsargn
3. - Hifsgr g
4. SR-UEIFT®S T

1)
(2)
(3)
(4)

A W N R

1[Option ID=29161] Question Description : dwbv_pg_gp24_eng_2_q16
2[Option ID=29162]
3[Option ID=29163]
4[Option ID=29164]

Sl. No.17
QBID:24201017

One of the features of broadcast communication is that it is

1. Static for the audience

2. Hidden from the audience
3. High- brow for the audience
4, Live for the audience

1)
(2)
(3)
(4)

A W N R

TUY & UHRY &1 U6 [A9Nai 98 ¢ & U8 :

1. HRD| & U R g 8

2. ARH A TE a8

3. AFTEDI & fory g18-51 (I FAray) BT 8
4. 3TED] & [0 Sfidd erar s

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29165] Question Description : dwbv_pg_gp24_eng_2_q17
2[Option ID=29166]

3[Option ID=29167]
4[Option ID=29168]

Sl. No.18
QBID:24201018




A cool medium has the features of :

A. High definition

B. High participation

C. It provides small amount of information

D. Tends not to be supplemented by hot media

E. Supplanted by hot media

Choose the correct answer from the options given below:

1. A B and C only
2.Cand D only

3.B, Cand E only
4.B, D and E only

(1)
(2)
(3)
(4)

A W N R

fadl IR (@) AreH B ARfaRed faRvan g -

A. B3 SpfRE

B. 3= HFiERT

C. g G-I D1 3icd AET UGH &dl &

D. U8 Sacid (81e) Hif$d1 gR1 §Uz® 8l &1 3R Ug< 181 eidll
E. Sgoid Hifsan gRT fawunfua

i<l few e fadeal # 9 9l SR 94 -

1.Bad A, B AR C
2. $aAC 3R D

3.Haq B, C AR E
4. %ad B, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29169] Question Description : dwbv_pg_gp24_eng_2_q18
2[Option ID=29170]
3[Option ID=29171]
4[Option ID=29172]

Sl. No.19
QBID:24201019




Which of the following directly affect or influence the listening skills of the students?
A. Student protocol

B. Administrative interest

C. Speed of the speech

D. Timing of the speech

E. The regional accent

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1)
(2)
(3)
(4)

Bl & 43U HIRE & Fgffed At e M R R yuiidd axd g 7
A, faemdf uieiia
B. WIH® fed

C. SR &1 7Tid

A W N R

D. SRS &1 §599 - iR
E. &g 3=ER
i< féu U faseal § 4 98t I g -

1. Had A, B3R C
2.%4dd B, C AR D
3. %A C, D ARE
4.PaAA DIARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29173] Question Description : dwbv_pg_gp24_eng_2_q19
2[Option ID=29174]
3[Option ID=29175]
4[Option ID=29176]

Sl. No.20
QBID:24201020




Given below are two statements:

Statement I: The power elites by controlling the communication media extend their hegemonic rule further is a statement of
myth.

Statement II: Through communication media, they always plan to win over the common publics and continue to overlord
them.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

EIEAERE I A

HYA - | - Wi 4T 9t guwur Hitgar ) Fgao wifid e s Afiug & SR 3F Serdl 8, U8 U [Hys $u
@Y - || - GUSUT HIfST1 & H1eH © d 9od I S0l IR faoid urH @1 dieE s § $R 390 3ifiufd 4 Ed 8

I BYHl B 3MTciie H FEieiad [decdl # 4 981 W g

1. ®Y | AR 11 &AWl Bl

2. %Y 1 3R 11 G Tad & |

3. @Y1 9d ¢, T &% 11 7Tad g |
4. BY | YA § , Tood DU 11 TET B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29177] Question Description : dwbv_pg_gp24_eng_2_q20
2[Option ID=29178]

3[Option ID=29179]
4[Option ID=29180]

Sl. No.21
QBID:24201021

A certain principal amount in 2 years at some simple interest becomes 10,000 and the same principal amount on the same
rate of simple interest becomes % 11,000 in 3 years. Find the principal and rate of interest.

1.39200 and 14%
2. 38500 and 13.5%
3.%9000 and 13%
4. 38000 and 12.5%

1) 1
) 2
3) 3
4) 4




Uds FIi3d o U % WIYRY 416 &1 62 W 2 91 H % 10,000/- Bl 91l & SR del SHH e 21 Y9 AR 416 63
R 3 @9l H ¥ 11,000/- B AT & | A R &9 &2 FId DI

1.3 9200 3R 14%
2.% 8500 3T 13.5%
3.% 9000 3 13%
4.% 8000 3% 12.5%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29181] Question Description : dwbv_pg_gp24_eng_2_q21
2[Option ID=29182]

3[Option ID=29183]
4[Option ID=29184]

Sl. No.22
QBID:24201022

Raman said to Aman, "That boy playing football there is the younger of the two brothers of the daughter of my father's
wife". How is the boy playing football related to Raman?

1. Cousin

2. Brother-in-law
3. 5on

4. Brother

(1) 1
2 2
3) 3
(4) 4

I 3 U Bgl-"d8 dS®l ol dgi pedid Wd 61 ¢, a8 B [UdI @I Udl @i §¢l & &l HIgdl § 321 8" | Fedld Wd 3§ dod
BT I G 1 gey 87

1. TR T
2. 4rer

3.7
4.913

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29185] Question Description : dwbv_pg_gp24_eng_2_q22
2[Option ID=29186]

3[Option ID=29187]
4[Option ID=29188]

Sl. No.23
QBID:24201023




A girl starts from a point P and walks 10 meters in the North-West direction and reaches the point Q. She then turns to her
left and walks 10 meters to a point R which is directly west ward to point P. She again moves towards south-east direction

and goes 10 meters and reaches a point S which is directly southward to point Q. From the point S she turns towards point
P and walks 10 meters. What is the shape of the geometrical figure PQRS?

1. Rhombus

2. Rectangle

3. Square

4. Parallelogram

1) 1
(2) 2
(3) 3
(4) 4

Ud qlicid] g P U goHT HRY Bl 6, 3R 30X - UEH fe=n # 10 Hiex gadl § @R Q fdg W ugadi 81 39 aIc dg 3/u+
T 3R g3l 8 3R 10 Hiex gaar g R 9@ 1! & off W IR W p fog & vty foge 81 98 O < - gd ot femm & 3R

el & 10 Hiex gaax s [g W Ugadi & ol 91¥ fig Q @1 alamnfygE 81 98 s fig ¥ fdg p @1 SR g3dl & iR 10 Hiex gadt
&1 TR 3G PQRS @I STHR ®H-T1 87

1. GEEHS
2. AATGR

3. @R
4. GHIGR IgH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29189] Question Description : dwbv_pg_gp24_eng_2_q23
2[Option ID=29190]

3[Option ID=29191]
4[Option ID=29192]

Sl. No.24
QBID:24201024

In a certain code language TROUBLE is written as ETLRBOU. How PROBLEM will be written in that language?

1. MPEROLB
2. MPELROB
3. MPERLCE
4. MEPLROB

(1) 1
(2) 2
3) 3
(4) 4

Uds [If3d e YN H, TROUBLE @I ETLRBOU & &0 ¥ feRal SiidT &1 39 HINT H PROBLEM &4 feRal ST 2

1. MPEROLB
2. MPELROB
3. MPERLOB
4. MEPLROB

1 1
(2) 2
3) 3




(4) 4

1[Option ID=29193] Question Description : dwbv_pg_gp24_eng_2_q24
2[Option ID=29194]
3[Option ID=29195]
4[Option ID=29196]

Sl. No.25
QBID:24201025

What number should replace question mark(?) in the series given below:
15,15, 22.5, 45, 112.5,337.5, 7

1.1181.25
2.1350
3. 1518.75
4.562.5

1) 1
(2) 2
3) 3
(4) 4

I €1 75 49 §, UYaE® O (7) ©1 WHE® 981 DF-91 8iHT aifel?
15, 15, 22.5, 45, 112.5, 337.5, 7

1.1181.25
2.1350
3. 1518.75
4.562.5

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29197] Question Description : dwbv_pg_gp24_eng_2_q25
2[Option ID=29198]

3[Option ID=29199]
4[Option ID=29200]

Sl. No.26

QBID:24201026

"Although | am very happy to win the lottery, | am also a little worried. The last time | had won a lottery, my pocket was
picked the next morning.” Which logical fallacy is commited in the above argument?

1. Post hoc

2. Hasty generalisation
3. Red herring

4. False alternative

(1)1
(2) 2
(3) 3
(4) 4




"I H qled] Siid- R HAd Uad g, <fd YisT-agd Rifad i g1 i@l aR 34 b dled siidl 41 di sFTell Yag 83 oid @re
@ 13 ot SRied gfod § &F I b -Gy 87

1. TR Bl
2. AfaaRT grE=dis

3.8 i
4. 30d fameg

1)
(2)
(3)
(4)

A W N R

1[Option ID=29201] Question Description : dwbv_pg_gp24_eng_2_q26
2[Option ID=29202]
3[Option ID=29203]
4[Option ID=29204]

Sl. No.27
QBID:24201027

Which of the following statements are logically equivalent?
A. All aeroplanes are polluting vehicles.

B. No polluting vehicles are aeroplanes.

C. All non-polluting vehicles are non-aeroplanes.

D. No aeroplanes are non-polluting vehicles.

Choose the correct answer from the options given below:

1. B and C only
2.B and D only
3.Aand D only
4. A, Cand D only

1)
(2)
(3)
(4)

A W N R

fFrafafad 4 94 @14 9 oy difde ¥ U ¥ 9l © 2
A. T T UgwE aEA e B

B. g 1 UgH® drgH [quH g1 gid & |

C. gl TR-Ugu® de {R-TaHH Bid g1

D. &3 ¥ i3 R-Ugu® are T eiar &

i< feu e fasedl § 9 w8l SR 9 -

1. ®aA B AR C
2.%ad B 3R D
3. Bad A AR D
4. PaAA CHRD

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=29205] Question Description : dwbv_pg_gp24_eng_2_q27
2[Option ID=29206]
3[Option ID=29207]
4[Option ID=29208]

Sl. No.28
QBID:24201028

If the statement- "All aeroplanes are polluting vehicles’, is given as true, then which of the following statements can be
immediately inferred to be true?

1. No aeroplanes are polluting vehicles.

2. Some aeroplanes are polluting vehicles.

3. Some aeroplanes are not polluting vehicles.
4. No polluting vehicles are aeroplanes.

1) 1
(2) 2
(3) 3
4) 4

g 34 HyH -l [30H Ugu die- & &1 9d & ©u H &1 7 ¢ df Fafaiea § 3 oy $uH & dialits U d adg giH
@1 A fdodT o 9dbdl & ?

1. ®I3 *ff fF9H Uge® 98- Tl el g
2. TS [G0H UgH® ae 8id &

3. $B fauH ugy® a5 e el B

4. DI3 UGN digH faHH T8l gl 8|

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29209] Question Description : dwbv_pg_gp24_eng_2_q28
2[Option ID=29210]

3[Option ID=29211]
4[Option ID=29212]

Sl. No.29
QBID:24201029

Which of the following propositions are so related that they can not both be false, although they may both be true?
A. Some cars are polluting vehicles.

B. Some cars are not polluting vehicles.

C. All cars are polluting vehicles.

D. No cars are polluting vehicles.

Choose the correct answer from the options given below:

1.Cand D only
2. A and B only
3.B and C only
4. A and Conly

1) 1
(2) 2
3) 3




(4) 4

Ffeiad # 9 o ufaaitaal 39 YHR Yaitd & @1 d aiFl $8d 98l 8l 9@dl 6, 99U d aHl 9 8l Hadi 6 ?
A. TS BR UGED dle sl &

B. T@ BN UGH® dle- gl ol ol

c. Tuft &R Ugu® are- sl 8|

D. @3 Hfl R UgH® die el idl 8

Teffr e A A T I

1.®ad C 3R D
2. %Had A 3R B
3. ®ad B 3R C
4. PIAAARC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29213] Question Description : dwbv_pg_gp24_eng_2_q29
2[Option ID=29214]

3[Option ID=29215]
4[Option ID=29216]

Sl. No.30
QBID:24201030

According to classical Indian School of logic (Nyaya) which of the following arguments involves the fallacy of
ashrayasiddha?

1. The sky-lotus is fragrant, because it is a lotus, like the lotus of a lake.
2. Sound is not eternal because it is produced.

3. Sound is eternal because it is produced.

4. Sound is eternal because it is audible.

1) 1
() 2
3) 3
(4) 4

TR YR THRE & 918-9d & H9R FEfkiied 3 3 5w ofea & smyafis adb-gw 9iefa 27

1. HIBTE - HH Hd g Hiid I8 i & Ub HHA $I aig U HHd aidl o
2. @i =% g ¢ Fild Ug A DI il g

3. @ Wy & TP U8 I &I A1l o

4, @ WA & I T8 9 il 8

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=29217] Question Description : dwbv_pg_gp24_eng_2_q30
2[Option ID=29218]

3[Option ID=29219]
4[Option ID=29220]

Sl. No.31
QBID:24201031




In ICT, which one of the following pairs of acronym and its expansicon is incompatible?

1.15P - Internet Service Provider
2. URL - Uniform Resource Locator
3. Blog - weB LOGic

4. VPN - Virtual Private Network

1)
(2)
(3)
(4)

A2 I A & Fufafad § @ oF 91 uitaull 9eg 3R 39 fG%R &1 9 3dTd 87

1. 378 U9 Ut - Se¥-c Aiaq UaEe
2.9 3R Ud - ZHEH R didet
3. ST - 9§ TP (weB LOGid)
4. 41 1 U - a3 WIgde Heddb

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=29221] Question Description : dwbv_pg_gp24_eng_2_q31
2[Option ID=29222]
3[Option ID=29223]
4[Option ID=29224]

Sl. No.32
QBID:24201032

A photograph occupies 10 MB of storage. A memory stick with 4GB capacity can store approximately such
photographs.

1. 300
2.400
3. 500
4. 450

(1)
(2)
(3)
(4)

A W N R

% BIeIE HSRU & 10 TH & R Bdl g1 df 4 Siie! &1 drell Ue H8R) fRed U8 81 @y fiod- Bieime & HSiid e
Hadl 82

1. 300
2.400
3. 500
4. 450

1)
(2)
(3)
(4)

A W N R

1[Option ID=29225] Question Description : dwbv_pg_gp24_eng_2_q32
2[Option ID=29226]
3[Option ID=29227]
4[Option ID=29228]
|




Sl. No.33
QBID:24201033

Given below are two statements:

Statement |: You can read from and write to RAM, whereas you can read from ROM but you can't write to ROM.

Statement Il: CD-RW stands for Compact Disc- ReWritable and can be written to and modified many times, whereas CD-R
stands for compact Disc- Recordable and R here indicates that the disc is recordable once only.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

DY - | : 319 W (RAM) U Ug Udhd & IR I W forg Gavd g, Siaids 31U I[H (ROM) ¥ UG Tdvd & g 319 IH U feRg =gl
I&d ol

DY - 1| : UIS1-3IR S&cg Bl R BT (3% - RASead 8 SR 39 W [oral Sl Yol § adl 34 &3 aR YRNTed foar s
THdl &, Taic TISI-HR BT A FHdE [555- RPIead & 3R T8l AR 371d Tdl & [& I8 $ad Ue 9R RPls arg gl

St B & s # Rafied el § @ 98 SR

1. WY | R 11 GFf Tl 8l
2. ®YT 1 3R 11 GF TR B
3. @Y1 98l &, g @Y 11 Tad B
4. Y| TAd &, g Y 1 T@T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=29229] Question Description : dwbv_pg_gp24_eng_2_q33
2[Option ID=29230]
3[Option ID=29231]
4[Option ID=29232]

Sl. No.34
QBID:24201034




Using the Ribbon in MS-WORD software, the Word count command/ feature displays the number of words as well as the
number of in the current document.

A. Lines

B. Characters

C. Paragraph

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4. A BandC

1)
(2)
(3)
(4)

A W N R

T U 98 Uteatr H ReH &1 U8 3d gU, 95 PIde (st TVH]) BHIS B daHH SidgHe H Leal & YT & Try-a1Yy
Frafafad o «ff den uefkid exdl & -

A. TTRA

B. Ul (i)

C. 3fa (RPIH)

e fgu e faweul § 9 98l S -

1. Bad A AR B
2. PAAAARC
3.®dd B R C
4.7 B3RC

1)
(2)
(3)
(4)

A W N =

1[Option ID=29233] Question Description : dwbv_pg_gp24_eng_2_q34
2[Option ID=29234]
3[Option ID=29235]
4[Option ID=29236]

Sl. No.35
QBID:24201035




Which of the following statements are correct?

Most web browsers:

A. have a HOME page.

B. have the ability to store user's favourite websites /pages.

C. keep a history of the websites visited by the users.

D. give the ability to go backward and forward to websites opened.
E. provide the user with access to Internet

Choose the correct answer from the options given below:

1.D and E only

2. A, Cand D only
3.A Cand E only

4. A, B, Cand D only

1)
(2)
(3)
(4)

A W N =

fFrafiad # 4 ®H d ST Ui § 2

HRHTR dd FIoR:

A. BT U gIHUS gl &

B. H WdIGa13fl & Udcial dasIgel/Usl ® Hied H- ®I &Hdl gidl 6|
C. Wi g1 &4l Tl dewgel &1 fe%l ((HeRY) 30+ U 39d |
D. Gl i dewrgel & 3Rt IR Ui 9 @t armef ueH &wd B

E. TG @ SeX-e AHTTH UgH &d ol

e T el H A W SR -

1.®aa D 3R E

2. %ad A, C3R D
3.Bad A CIRE
4. PIAA, B, C HR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=29237] Question Description : dwbv_pg_gp24_eng_2_q35
2[Option ID=29238]
3[Option ID=29239]
4[Option ID=29240]

Sl. No.36
QBID:24201036




Wind farms are?

1. Places where winds blow at a speed of more than 5 m/s.

2. Potential places of wind energy generation.

3. Places where winds help in good farming practices.

4. Large concentrations of wind generators producing electricity.

1) 1
(2) 2
3) 3
(4) 4

T eH A g

1. 98 ®IF W8l UaH 5 Hiey/Ade 31 71fd T +4fie R yarfed gidl

2. UgH il Sl & HHeT &id

3. 98 W S5l Ua 399 $i - ST § Ggd oidl o

4. faggd SaeA & ol ugd I Redl @edd)) @1 9ed WX W Gagul

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29241] Question Description : dwbv_pg_gp24_eng_2_q36
2[Option ID=29242]

3[Option ID=29243]
4[Option ID=29244]

Sl. No.37
QBID:24201037

Match List | with List 11

List | List Il

Pollution Source Category

A. Sewage I. Thermal Pollution

B. Agricultural Fertilizers Il. Sediments

C. Land Erosion ll. Oxygen demanding waste
D. Power Plants IV. Plant Nutrients

Choose the correct answer from the options given below:

TA-IILE-IV,C-1,D-1
ZA-NLB-IV,C-1I,D-1
JA-ILB-LC-U,D-IV
4A-1IL,B-1,C-1V,D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gaferd st :

gl -I i -1

PIALETIR] gt

A, TSI I TT4TT Ugwor

B. PIY-Idd® II. 3G (dASC)

C. Y-3URGA I11. e 1 are ufip
D. Sull-HaA Iv. OTGY UiY@dd

< feu 0 fadent # 9 98 SR 9T

T.A-ILB-IV,C-1,D-1
2ZA-NLB-IV,C-Il,D-1
JA-ILB-LC-NI,D-IV
4A-1LB-LC-IV,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29245] Question Description : dwbv_pg_gp24_eng_2_q37
2[Option ID=29246]

3[Option ID=29247]
4[Option ID=29248]

Sl. No.38
QBID:24201038

Which of the following are overwhelming evidence of climate change?

A.In Alaska, Western Canada and Eastern Russia average temperatures have increased by over 4°C during past 50 years.
B. Tropical regions have warmed much faster than rest of the world.

C. Mount Kilimanjaro has lost 85% of its famous ice cap since 1915.

D. Over the last century the average global temperature has climbed 0.6 °C.

Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand D only
3.B,Cand D only
4.B and C only

1) 1
(2) 2
(3) 3
4) 4




fFofifaa o @ Saarg aRadq & <iafie ied oiH-9 82

A. CIDT, Ui SH1ST 3R Ydl &9 5 50 981 & GRM 3{19d dIYHH 4° Uiy 9§ 3ifdd g¢ 1 gl
B. SWIdGica ey &= fay & 37 &Flf @Y e e ool 4 T gu gl

C. a4 1915 ¥ A [BaHER! Udd & Uit [BHRRER 85% T 81 9o &

D. el widledl & GRM 3ied aifie af® dIuHM 0.6° SicHad ¥ iU g1 T g

I feu T faeeal § 9 9 SR -

1. Had A, B AR C
2.%ad A, C3R D
3.%ad B, C AR D
4. %aAB AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29249] Question Description : dwbv_pg_gp24_eng_2_q38
2[Option ID=29250]

3[Option ID=29251]
4[Option ID=29252]

Sl. No.39
QBID:24201039

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Many human activities increase both the severity and frequency of floods.

Reason (R) : Paved roads and parking lots increase water infiltration into the soil and slow down the rate of run off in
streams and lakes.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R} is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

G Y CUIU R : Ud @l DY (A) IR GHY Bl BRU (R) Bl ™I 8l
AU (A) : HDT BHFEY TafafidT ag ®1 THsdl 3R aRaRdl, aF1 § 3fE B &

DRU (R): R B T Ugdh 3R Ui - WS HaT H 9d 3fck: e & 9e1d o AR 4RI IR idl o 9519 3 X 3 i
Fdal

St Bl B e | Rigifed feed § 3 98 SR 9

1. (A) 3R (R) THF GBI € 9iR (R), (A) D! U8 ARAT B

2. (A) IR (R) THT T8I & T (R), (A) B TE! AT Tl o
3. (A) 8l § U3 (R) Fol Tel &

4. (A) T8l T8l & IR (R) Tl &




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29253] Question Description : dwbv_pg_gp24_eng_2_q39
2[Option ID=29254]

3[Option ID=29255]
4[Option ID=29256]

Sl. No.40
QBID:24201040

The "Loss and Damage’ funding in the context of climate change impacts was agreed upon by the international community
at

1. COP 25
2.COP 26
3. COP 21
4. COP 27

1)
(2)
(3)
(4)

RIPIT G Sicarg uRdd & HI & de F g1 3iR e e @l ts S89 hign) w Rafaled 3 9 foad gend
g UT?

1. W3 G (cop) - 25

A W N R

2. 43 - 26
3. WA - 21
4. T3, - 27

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=29257] Question Description : dwbv_pg_gp24_eng_2_q40
2[Option ID=29258]
3[Option ID=29259]
4[Option ID=29260]

Sl. No.41
QBID:24201041

Given below are two statements:

Statement |: According to ancient Hindu system of Education an aspect of education which is emphasized by the upholders
of education in democratic society is that education should be free as far as practicable.

Statement II: According to ancient Hindu system of education an aspect of education which is emphasized by the upholders
of education in democratic society is that education should be compulsory as far as practicable.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
3) 3




(4) 4

B ERAR A AT U

HY - | W {2 e Usfd & o ER diwdits 9o & 181 & Wiaes! gR 11 &1 06 vy S R sa o e | e
fa fRien Sigt a@ oraeR® &, -y gt Tifigul

DY - 11 : UM feg I8 Ugfd & 3MUR diedite wars | sl & Uldes! gR1 &1 o1 te ug 5" W 9d fear g 98 &
o fRre wigt da oae® g, ifard i =rfgul

JudE Yl & 3Tl F MEfiREd [deeul § 9 981 W I

1. B R 11 GFf Tel Bl
2. YA | SR 11 Gl Tad 8
3. @Y | Tel g, faog YA 11 7Tad g
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=29261] Question Description : dwbv_pg_gp24_eng_2_q41
2[Option ID=29262]
3[Option ID=29263]
4[Option ID=29264]

Sl. No.42
QBID:24201042

According to NEP 2020, the first vertical of Higher Education Commission of India (HECI) will be the

1. National Accreditation Council (NAC)

2. National Education Regulatory Council (NHERC)
3. General Education Council (GEC)

4. Higher Education Grants Council (HEGC)

(1)
(2)
(3)
(4)

A W N R

T3 & i (@3.01) 2020 & IR YR & IddR [T SRIRT (Td.3.91.3115.) BT UYH S g

1. WFTE v uReg (e

2. TIPTY TR e uRvg (T1.U9E.3REl)
3. I e ofeg s

4. FeaR & 3GH URYG (T340

1)
(2)
(3)
(4)

A W N =

1[Option ID=29265] Question Description : dwbv_pg_gp24_eng_2_q42
2[Option ID=29266]
3[Option ID=29267]
4[Option ID=29268]

Sl. No.43
QBID:24201043




Given below are two statements:

Statement |: According to National Education Policy document, the teacher must be the locus of basic reforms in the
country’'s educational reforms.

Statement |I: Historically marginalised or the disadvantaged student sections of the society should get paid quality
education irrespective of their place of residence.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

B - | AP e Fifd THIES & AR e @1 $¥ & Aere-urT H qo GurT & fég uy g =igul

@Y - 11 : UfEIT® &9 ¥ SUidig 91 941N & SR Rufd ard faemd avf &1 3+ Fary-®H FRug aa-Tuadias Rial
PEHEEAREIE IR

St B & s # Rafied el § @ 98 SR

1. % 1 3R 11 GHT 5 B
2. ®YT 1 3R 11 GF TR B
3. @Y1 98l &, g @Y 11 Tad B
4. Y| TAd &, fog dYE 1 TT B

1)
(2)
(3)
(4)

A W N R

1[Option ID=29269] Question Description : dwbv_pg_gp24_eng_2_q43
2[Option ID=29270]
3[Option ID=29271]
4[Option ID=29272]

Sl. No.44
QBID:24201044

Which of the following Universities threw all University examinations open to girls in 18837

1. Allahabad University
2. Bombay University
3. Delhi University

4. University of Madras

1)
(2)
(3)
(4)

A W N =




Fufeiad o 9 foy fayfaenea = 1983 H fqufdeney o @il wiansi & e dsieal f safla ¢ &l 2

1. gellglag [ayfdemed
2. 913, [qyfaere™
3. fecit fayfaemeg
4. Tz fqyfaerd

1)
(2)
(3)
(4)

A W N R

1[Option ID=29273] Question Description : dwbv_pg_gp24_eng_2_q44
2[Option ID=29274]
3[Option ID=29275]
4[Option ID=29276]

Sl. No.45
QBID:24201045

Given below are two statements:

Statement |: Xuan Zang visited India and became a student of Takshashila University.

Statement II: Xuan Zang visited India and became a student of Yogashastra.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

dR Py RuUE:

DY - | - g T YR 311 SR dafien faufaenea o faemif =
HU - 1| - & T U 3T R G &1 faenedf &

Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. Y | SR 1 &F TR B
2. %Y | AR 11 G TTad & |
3. @Y | Tel g, faog YA 11 7Tad g
4. @Y1 71Ad & , fb=q BY 11 98T Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=29277] Question Description : dwbv_pg_gp24_eng_2_q45
2[Option ID=29278]
3[Option ID=29279]
4[Option ID=29280]
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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The naval expedition against Malaya was sent by a

1. Pala ruler

2. Sena ruler
3. Pallava ruler
4. Chola ruler

1) 1
(2) 2
3) 3
(4) 4

g & [Gog Ak H g der ure

1. U IS
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3. Jcaid 9SG
4. 91 TMGEH

1) 1
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(3) 3
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Given below are two statements:

Statement I: Trade between India and China always occured in the Chinese ships as these were always better than the Indian
ships.

Statement |I: Malaya was located in Kerala.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
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(1) 1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Which among the following factors played an important role in India’s trade with China?
A. Ship building in India

B. Strong navy

C. Skill and enterprise of the traders.

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.4 BandC

1) 1
(2) 2
3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Indian rulers from which of the following regions tried to encourage trade with China?
A. Bengal

B. Gujarat

C. South India

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.4 BandC

1) 1
(2) 2
3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Shipyards in India were located at

A. Bengal

B. Orissa

C. South India

D. Gujarat

Choose the most appropriate answer from the options given below:

1. A B and C only
2. A and Conly
3.A, Cand D only
4. A B, CandD

(1)1
(2) 2
(3) 3
(4) 4
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The book entitled A System of Fencing was written by:

1. Pestalozzi

2. Johann Happel

3. Archibald Maclaren
4. Guts Muths

(1)1
(2) 2
(3) 3
(4) 4
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